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BACHELOR’S DEGREE 

PROGRAMME (PHILOSOPHY) 

(BDP)  

Term-End Examination 

June, 2025 

BPY–012 : PHILOSOPHY OF SCIENCE AND 

COSMOLOGY  

Time : 3 Hours  Maximum Marks : 100 

Note : (i) Answer all the five questions. 

 (ii) All questions carry equal marks.  

 (iii) Answer to question nos. 1 and 2 

should be in about 400 words each.  

1. What do you understand by verification 

method ? How does Karl Popper criticize the 

verification method ? 20 
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Or 

Distinguish between theological and 

scientific approaches to the understanding of 

universe.  20 

2. What is special theory of relativity ? What 

are the philosophical implications of this 

theory ?   20 

Or 

What is quantum mechanics ? What are the 

philosophical implications of quantum 

mechanics ? 20 

3. Answer any two of the following questions 

in about 200 words each :  

(a) Write a note on Kant's understanding of 

space and time. 10 

(b) What is the significance of falsification 

method ? Discuss. 10 

(c) Compare between Ptolemy and post-

Ptolemy systems. 10 

(d) Write a note on the steady state theory. 

10 
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4. Answer any four of the following questions 

in about 150 words each :  

(a) What is internal history of science ? 5 

(b) How can we prove the dual nature of 

matter ? 5 

(c) Write a note on the logical positivist’s 

idea of science. 5 

(d) What is Philosophy of Science ? 5 

(e) “Universe is expanding.” Explain it 

briefly.  5 

(f) Write a note on Leibnitz’s 

understanding of time. 5 

5. Write short notes on any five of the 

following in about 100 words each :  

(a) Retrograde motion 4 

(b) Axiom  4 

(c) Paradigm shift 4 
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(d) Inertial system 4 

(e) Big-Bang theory 4 

(f) Cosmology 4 

(g) St. Augustine's criticism of science 4 

(h) Mechanical philosophy 4 
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 BPY–012 

Lukrd mikf/k dk;ZØe (n'kZu'kkL=) 

(ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

ch-ih-okbZ-&012 % foKku n'kZu vkSj czãk.M'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) lHkh ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) iz'u Øekad 1 vkSj 2 ds mÙkj yxHkx 400&400 

'kCnksa esa nhft,A 

1- lR;kiu i¼fr ls vki D;k le>rs gSa \ dkyZ ikWij 

lR;kiu i¼fr dh vkykspuk dSls djrs gSa \ 20 
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vFkok 

czãk.M dh le> ds /keZ'kkL=h; vkSj oSKkfud n`f"Vdks.kksa 

ds e/; varj dhft,A 20 

2- lkis{krk dk fof'k"V fl¼kUr D;k gS \ bl fl¼kUr ds 

nk'kZfud fufgrkFkZ D;k gSa \ 20 

vFkok 

DokaVe ;kaf=dh D;k gS \ DokaVe ;kaf=dh ds nk'kZfud 

fufgrkFkZ D;k gSa \ 20 

3- fuEufyf[kr esa ls fdUg° nks iz'uksa ds mÙkj yxHkx 

200&200 'kCnksa esa nhft, %  

(v) fnd~ vkSj dky dh dk.V dh le> ij fVIi.kh 

fyf[k,A  10 

(c) feF;kdj.k fl¼kUr dk D;k egRo gS \ ppkZ 

dhft,A  10 

(l) VkWyeh vkSj VkWyeh&i'p rU=ksa dh rqyuk dhft,A 10 

(n) fLFkj voLFkk fl¼kUr ij fVIi.kh fyf[k,A 10 
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4- fuEufyf[kr esa fdUg° pkj iz'uksa ds mÙkj yxHkx 

150&150 'kCnksa esa nhft, %  

(v) foKku dk vkarfjd bfrgkl D;k gS \ 5 

(c) nzO; dh }S/k izÏfr dks dSls fl¼ dj ldrs gSa \ 5 

(l) foKku lEcU/kh rk£dd Hkkookn ds fopkj ij 

fVIi.kh fyf[k,A 5 

(n) foKku n'kZu D;k gS \ 5 

(;) ßfo'o dk foLrkj gks jgk gSAÞ laf{kIr O;k[;k 

dhft,A  5 

(j) dky lEcU/kh ykbfCuRt dh le> ij fVIi.kh 

fyf[k,A  5 

5- fuEufyf[kr esa ls fdUg° ik¡p ij yxHkx 100&100 'kCnksa 

esa laf{kIr fVIif.k;k¡ fyf[k, %  

(v) i'porhZ xfr 4 
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(c) Lo;afl¼ lw= 4 

(l) izfreku foLFkkiu 4 

(n) tM+Roh; rU= 4 

(;) fcx&cSax fl¼kUr 4 

(j) czãk.M foKku 4 

(y) lar vkWxLVhu dh foKku dh vkykspuk 4 

(o) ;kaf=d n'kZu 4 

× × × × × 

 

 

 

 

 

 

 

 

 

 


